OIS JIEEE TR

© 2023 WRRP All rights reserved.

— EREHE

@ AEGEAIR HONDA CBR150 - 2015-2017%

@ TRAERF  BRVSREATERIE  BETRERENEE - —MOEBEETEE -
@ ENRIFEDBITIENEMET N DIEEER, - R EHIEEIRE - 8% -

@ UEZEFRIRMRPEATAERE @ [ERIREBALT - ESZRBASEE -

@ WFEEMER - FEEALTMBIE www.wrrp.com. tw

— AR

4
N-LC Y-LD ERBEBS4E
HD-RHEER 3 % @B Pt
Y4 T10 7 1| wx 1
2 | M8 x60 mmmAmEs | 1
3| Mex20xERARELS | 2
4| M8 iR 1
s | M8 X35 mmmAmEs | 2
1 | 6| mexiexmmAmms | 2
7| me 2R 2
8 M6 FHR (L) 2
9 | 601z )
—_—— 10| M6 EiEL 2
11 [ M6 #218R 1
7 12| M6xX65kFrAmEs |1
13| M6x12 MERARES | 1
1| Mex2skEMAmES | 1

AHBEEBRIMHE
5 @ 78
DIk
M8 X 60 SRR
M6 X 40 B ANBRA
M8 FER(AIR)
M6 18R
M6 X 20 B AANBRA
M8 EfER
M8 X 25 SR AR
M8 X 16 *EAANBR4
10 [ M6 X 12 MEARNEEH

WWW.WRRP.COM.TW

oleo|w|lo|lv|s|lw|o]|—

R IO ST (S S G IR NI [ N




= HARERH
MB8X35 Bifi##X2 ~ MB8X25 B3 iZ#X2 - REFMES

e

\

. J \. J
m - AHEAN
BENBEBRTENHE  IRNRESESTRE -
BERSLWOBN T 8% - S BB RS AN MR IR EAOBIRIH SR Lwb
AEL I B 8t | B W 8t )
| Lwb

[ﬁ%%ﬂ’éﬁﬂ]‘ﬂ%ﬁ?&%‘ﬁ%fg °

[REMEERENTEE - TERETARAER LR méﬁéii%fﬁ’:\%ﬁﬁ]

HEDR IE B §t | 3 B5 8t
lam| B = | & B |
M8 IR —

WWW.WRRP.COM.TW




